
Ranger 400 Hard Top 
P/N 10569 

Fits: 2010 Ranger 400 only. 

Includes: 
1. (1) Hard Top 
2. (1) Light Housing P/N 100393-02 
3. (2) 10-32 x 3/4 Truss head screw. 
4. (3) 1/4-20 x 3/4” Flange hd bolt. 
5. (3) 1/4-20 x 2-1/4” Flange hd bolt. 
6. (6) Quick Connect Clamps (9881) less knobs. 
7. (3) 3/4” x 1-1/8” Round Spacer. 
8. (2) 1/8” x 1” x 30” Gasket. 
9. (3) 1/8” x 1” x 3” Gasket 
10. (1) Waterproof Light w/batteries. 
 
Installation: 
 
1. Remove the nylon nuts from the clamps and set 

aside until last. 
2. The front will use three clamps and the 1/4-20 x 

3/4” flange bolts.  Simply, run the bolt though the 
top and into the clamps. 

3. The rear will use the remaining clamps, spacers 
and the 1/4-20 x 2-1/4” bolts.  Simply, use the 
spacer to raise the height of the rear bar to the 
same level as the front. 

4. Use the gasket to protect the top of your cage.  
You can put it where ever you like. 

5. Once, you have everything tight you can install 
the nylon nuts on the clamps.  Be very careful 
not to over tighten them and break the studs.  
Do not use an impact gun. 

6. Using the light housing and 10-32 screws attach 
the light to the top. 

 


